
 

Math 3280 Tutorial 2

Ex I Suppose a die is rolled continually until a 6 appears at which Point
me experimentstops Then

what is the sample space
let En denote theevent that the experiment stops afterrolling n times
what is En
what is the event Liz

Solution 1 的 kzo 么 ⼀ 应Efl 2了 45 Denote by 价后⼀⼀名6J the
home that the j thnollg.ms 多 纠⼀⽔ and kith roll goes6

S fstops at some point lktl了 Ofnot仰 within finite many rolls

irrnrnrrnk.in⼀ 众6 1位 该咋2 ⼀ 5了 kzo U仫名 ____ 纵经第
2 En 您是⼀纵6_IAihi.int似了4.5 灼

要赢
3 the event that 6 does not appear within finemany rolls

ER A football consists 200Henswe and 20 defensive players The players are
to be pained in groups of 2 forthe purpose of deeming inmates The
pairing is done at random

l Who Is theNbabig that there are noohsive de.ioEo
2 What is thepwbabiligth.at there are 2kdfaswe defns.me
roommate paws Run 10

SolutionD there are

懙 㴯 蕊
possible way to divide the 40 player into 20 not ordered
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Ex 3 A pair of dice is rolled until a sum of 5 or 7 appears
Find the probability that a 5 occurs first

solution Eden the event that a sum of 5 occurs first
的 nzl.denote by En the event that thesum of nth 2011 is5
and Me sum of kth WH is neither 5 nor 7 for KI m

Then Wehave

Ein En
Observe at the right h size is a disjoint union

no

阼 ⼆却 En
叫Let CID denote an outcome of a roll Then 4

们 5 们 1，4 2，3⼀
计汀 lbj 1，6 25 3，4 14，3 5，2 6
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